Multiplizieren Sie Dezimalzahlen mit
Zehnerpotenzen

2,195 x 10000 =

3, 664 x 1000000 =

Datum: Ergebnis:

3,491 x 10000 =

10, 883 x 10000 =

1,017 x 100000 =

5, 844 x 10000 =

5,069 x 1000000 =

5,808 x 10 =

1,32 x10=

6, 552 x 100000 =

8,416 x 1000000 =

8,162 x 10 =

9,415 x 100 =

7,595 x 100000 =

9, 177 x 100000 =

2,253 x 100 =

9,014 x 1000 =

4,783 x 10 =

5,404 x 1000 =

10,404 x 10 =
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Multiplizieren Sie Dezimalzahlen mit
Zehnerpotenzen

2,195 x 10000 = 21950

3, 664 x 1000000 = 3664000

1,017 x 100000 = 101700

5, 844 < 10000 = 58440

5,069 x 1000000 = 5069000

8,416 x 1000000 = 8416000

9,415 x 100 =941.5

7,595 x 100000 = 759500

9, 177 x 100000 = 917700

2,253 x 100 = 225.3

Datum: Ergebnis:

3,491 x 10000 = 34910

10, 883 x 10000 = 108830

5,808 x 10 = 58.08

1,32x10=13.2

6, 552 x 100000 = 655200

8,162 x 10 = 81.62

9,014 x 1000 = 9014

4,783 x 10 =47.83

5,404 < 1000 = 5404

10,404 x 10 = 104.04
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